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QUESTION 1

You are managing a 24*7 database. The backup strategy for the database is to perform usermanagedbackups.
Identify two prerequisites to perform the backups. (Choose two.)

A. The database must be opened in restricted mode.

B. The database must be configured to run in ARCHIVELOG mode.

C. The tablespaces are required to be in backup mode before taking the backup.

D. The tablespaces are required to be in read-only mode before taking the backup

Correct Answer: BC

QUESTION 2

You are in the middle of a transaction updating a very important table. The machine on which a database was running
reboots because of power outage. This caused a database instance failure.

Which statement is true in this situation?

A. The online redo log files and archived redo log files are required to accomplish the recovery
B. The uncommitted transaction will be committed at the next startup of the database instance

C. The uncommitted transaction is rolled back automatically at the next opening of the database
D. The DBA has to perform the recovery on the database to recover the uncommitted transaction

Correct Answer: C

QUESTION 3

Which three file types are managed by Data Pump jobs?
A. out files

B. log files

C. alert files

D. SQL files

E. error files

F. dump files

Correct Answer: BDF




QUESTION 4

View the Exhibit and examine the parameter settings in your server-side parameter file (SPFILE). When you tried to
start the database instance, you received the following error:

SQL> startup ORA-00824: cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information

Why did the instance fail to start?

Exhibit: A. Because the PGA_AGGREGATE_TARGET parameter is not set

*,audit_fil. dest="/ull/app/oracle/admin/orcl/adump’
*,audit_trail='db"*

*,.compatible='11.1.0.0.0"
*.oontrel_filea='"/ull/app/oracle/oradata/orcl/controldl.ctl®, "/
ull/app/oracle/oradata/orcl/controll2.ctl’, '/ull/app/oracle/ora
data/or¢cl/contreol03.ctl”

4.db_block_size=8192

*.db_doemain="us.oracle.com’

*.db_name="orcl"
*.db_recovery_file_dest="/ul0l/app/oracle/flash_recovery_arsa’
*.db_recovery file dest size=21474836480
*.sga_target=436207616

*.dispatchers="' (PROTOCOL=TCP) (SERVICEmorclXDB) "
*.filesystemio_options='ASYNCH'

*.job_gqueue_processes=1000

*.memory max_target=629145600

* . memory target=629145600

*,open_cursors=300

*.procesaes=150

*.remote_login_passwordfile="BXCLUSIVE"
*.stacistics_level="BASIC'

orcl. resource_manager_plan="FORCE: "'
*.undo_tablespace="UNDOTBS1’

B. Because the STATISTICS_LEVEL parameter is set to BASIC
C. Because MEMORY_TARGET and MEMORY_MAX_TARGET cannot be equal

D. Because both the SGA_TARGET and MEMORY_TARGET parameters are set.

Correct Answer: B

QUESTION 5

The instance abnormally terminates because of a power outage. Which statement is true about redo log files during
instance recovery?

A. Inactive and current redo log files are required to accomplish recovery



B. Online and archived redo files are required to accomplish instance recovery
C. All redo log entries after the last checkpoint are applied from redo log files to data files
D. All redo log entries recorded in the current log file until the checkpoint position are applied to data files

Correct Answer: C

QUESTION 6

Identify two advantages of using a recovery catalog instead of the control file of the target database in Recovery
Manager (RMAN).

A. You can use RMAN stored scripts.

B. Recovery is faster if data is stored in catalog in addition to the control file.

C. You can store backup information of all registered databases in one place.

D. Database backups are automatically deleted when they are older than the specified time period.

Correct Answer: AC

QUESTION 7

To accomplish user-managed backup for the USERS tablespace, you issued the following command to put

the tablespace in backup mode:

SQL> ALTER TABLESPACE users BEGIN BACKUP;

While copying the file to the backup destination a power outage caused the instance to terminate

abnormally.

Which statement is true about the next database startup and the userstablespace?

A. The database will open, and the tablespace automatically comes out of the backup mode.

B. The database will be mounted, and recovery must be performed on the USERS tablespace.

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode.

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery.

Correct Answer: C

QUESTION 8

Examine the following command that is used to duplicate a database on the same host:



RMAN> RUN { ALLOCATE AUXILIARY CHANNEL aux 1 DEVICE TYPE DISK; DUPLICATE TARGET DATABASE TO
auxdb SKIP READONLY; }

Which two statements describe the effect after the database is duplicated successfully? (Choose two)
A. The data files of the read-only tablespaces in the target database are not duplicated

B. The read-only tablespaces in the target database are still defined in new the database

C. The read-only tablespaces in the target database are changed to online after duplication

D. The data files of the read-only tablespaces in the target database get duplicated

E. The read-only tablespaces in the target database are not defined in the new database

Correct Answer: AB

QUESTION 9

You are working on a database that was created using Oracle Database 10g, the default tablespace type property was
not changed. You execute the following statement to create a tablespace, mytbs: CREATE TABLESAPCE mythbs
DATAFILE \\/ul/data/mytbs.dbf\\' SIZE 100M; Which two statements are correct regarding the mytbs tablespace?
(Choose two)

A. It is a smallfile tablespace.

B. It is a bigfile tablespace (BFT).

C. It is a default bigfile tablespace.

D. Itis a locally managed tablespace.

E. It is a dictionary-managed tablespace.

Correct Answer: AD

QUESTION 10

You work with a newly created database. Presently, there is no application load on the database instance. You want to
create a baseline for tuning the application, so you decide to collect recommendations that can be implemented to
improve application performance.

What action must you take to achieve this?

A. Run Segment Advisor.

B. Run the SQL Tuning Advisor (STA).

C. Run the Automatic Workload Repository (AWR) report.

D. Run the SQL Access Advisor with a hypothetical workload.

Correct Answer: D



QUESTION 11

Identify two options that Oracle recommends while configuring the backup and recovery environment for your recovery
catalog. (Choose two.)

A. configuring control file autobackup to be ON

B. backing up data filed only and not the archived redo log files

C. running the recovery catalog database in NOARCHIVELOG mode.

D. setting the retention policy to a REDUNDANCY value greater than 1

E. backing up the recovery catalog to the same disk as that of the target database

Correct Answer: AD

QUESTION 12

You have specified the warning and critical threshold values of an application tablespace to be 60% and 70%
respectively.

From the tablespace space usage metrics, you find that the actual space usage has reached the specified warning
threshold value, but no alerts have been generated. What could be the reason for this?

A. The EVEN parameter was not set.

B. The SQL_TRACE parameter is set to FALSE.

C. Enterprise Manager is not used.

D. The STATISTICS_LEVEL parameter is set to BASIC.
E. The TIMED_STATISTICS parameter is set to FALSE.

Correct Answer: D
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